0000 I00(@Oo:0000) 20130 50 310

6 UU 10000

r,...,z, DOOOOO000O0O0 10000

a1 + -+ ATy — bl

Am1T1 + -+ + Gpp Ty = bm
0,0000

aiy - Qip x1 by

Am1 = Amn Tn bm

00000 Az=b0000. 00 b=000000000000,0000000
ooooooo.

0000 (A]b) 000000000000 (A'|¥)0000000, Az=>b<
Ag=b000,Az=b000 A= 0000000.000,(A|b)0000
000000000 (000000)0000,A4Az=b000000000000

00000.b=0000,00000 =000 (0000000000)000,
0000000000000, (A|b) 0000000 00,000000000000
00,00 AD0DODOOOOO0O00O000O0O0O0000.00,400000000
00000 A 0000000. 0000000 A2=0000000.00000
00 A00000D000000000000000000 a,...,2;, (r=rankA)
0ooo0,0000

z, = (vi,,...,2,, 00000000 100)

z, = (vi,,...,2;, 00000000 100)
0000000000000000.000,4;,,...,2, 0000000000000
00000,0000000000000 #,,...,0, 00000,00000000

00000000000, 0bobhOooOOoooooooooopooooooo. 0o
0,000000000000 (=FAU0D0O0OD)00 ADODODOOOO n—rQooo.
r=y,c=y, 000000000, Ay, =Ay,=0000,00000 ¢, 0
00
Alay; + y,) = Ay, + Ay, =0



gobo,bddd aqy, +cy, 0. 00o0oddd n—r0obooog, oo
000 Az=0000 n—r0O00O0D0O0OOOO ay,...,a,.000,0000

r=ca + - +cprQ,, (¢1,...,c,,00000)

oooo (boO0,r=n000000000000). OOOOO ay,...,a,, 0
Az=00000000.

g 6.1 DOOUOOO0 100b0000bbobooaon.

T1—To+ 23 —3x4+ 325 =0
3I1—21‘2+5$3—5I4+7$5:0
2$1+I2+8I3+7l’4—1‘5:0

0000000000.000 (b=0000000)00 10000 Az=b00
00.(A|b) 0000000000000 (A|¥)00000000. 000000
rank(A | b) >rank A OO0, 000 Az=b000“ 0=1"000000000
000,000000000,000000000D0DOCOCO00. 0000000 (O
00 rank(A|b)=rankAODD)00000O0O00OO.

00,000 000000000 Az=0(A2z=000000000000
Az =b (& Az =0)0000000000000000. 00,Az=00000
0 ay,...,a, ., (r=rank A) 000. 00 Az =b000000000,000000
000 ¢g0000, Az=600000

r=g+ca+- --+cp ., (¢1,...,c,,00000)

oooo.
000 Az=b6 00000
zi, = (vi,,...,2;, 00000000 100)+000)
z;, = (vi,,...,2;, 00000000 100)+000)
000000000000, ,...,2, 000000 00000000000000
0000 ,,...,2;, 000000000000000000,000 ¢g000000.

00 6.2 00 (1,20,23 0000)00 1000000000000ODO0OOO a0O
000000.00000000 (DObooooooooooo)oooog.

x1+2x2+3x3:a
4$1+5ZL‘2+6I3:0
7I1+8[L‘2+9!L‘3:3



ugd 63 0000 100Db00bbOoobbooboboobb,bboobnboobo
goooo.

(

Ty — X9+ 213 —3x4+ 35 =1 Ty — X9+ T3 — 34 + 35 = 2
(1) ¢ 3xy — 2w + 523 — by + Tx5 =0 (2) ¢ 3z — 215 + Hx3 — bry + Ty = —2
\2x1+m2+8x3+7x4—x5:1 201 + X9+ 8x3 + Txy — x5 =1
(2x1+3x2—5x3:1 T1+ a3 +23=0
(3) ¢ @y +x9—23=2 (4) ¢ 2wy +4xy —23 =1
\ —3x1 — 629 + 223 = —7 T+ 3xy — 223 = —1

221 + 9 + 3x3 + 524 = 3
Ty + 229 — 93 — 224 =6
3x1 + 29+ 8x3+ 914 =3
Tx1 + 529 + 1324 = 15

()

\

b 10bobobobooboobgoobo,bobboobooboobobobo
000 (ODOoo000)00O0U0U00 (boooOOoUOUOoOoDoOo,00DDO0O00
O000ooooooo).

Ut 64 xyz0U0OO0O0ODOOOOOODO

a11x + a2y + 132 = b1
a91T + a2y + 932 — b2
312 + aszey + aszz = bg

0o0o000oooooooo, ()oooooooooooooooo, (2)ooooo

0000000000000 0,3) 0000000000000 00O0, 00000
gogooboboogd.



